MARNHIN RN,

Y U

6IJE)Q]J,’Q‘?I A1a210 Three Phase Power Quality Analyzer



v

=
AINN N

qYNIN F700S

£1M8DIMATDN

J o

ANTHNAVOIUDIADTNAANT

a

a
v
@

SuTn#halg

Jd AU

AB0L (331 SE0- CAP
ACFCEE PETBE  LEDSE 2 A
AFETIBE EBO0BE 59088 (LA
COF0-00 P

[Z0:20:200 9100 © 2K

[D0:@5:0] ¥E2000 ¢ L

sanje 4, 10507

A BEELE = WnUpy

A L0'SEE = WNWIEE Y

[£69)96E = =25

005000= 201V

MgsE 00g= SEISK

AP ALE = ZOS IR A

Mdfh £ = 3RISA

32051 = Al

0G5E/ 1ML = Aeq]

E1FJ3WY A= 3WeN

MAEBLE ABLBLE = WnLy

A E0'S3E A B3 POE = WNWIEE Y

[£69) 96E [{69)96E = =25

005000 00°60:00 = Z01¥ X

AlgfE 00g| Mase 00E= RIS K

A LEEEE A 0L8EE = 20517 4

MQfh £ MM £ = 3RISA

32051 32051 = S

0GGE/ 1AL 0SGE/ 1AL = Aeq]

cFasg A LIYsWH A= SueN
#FI09=E ]

A% 002 00°60-00

L¥ 458

L¥'E5E

L' LiE

LFELE

LPGLE

MFLAE

P ELE

Ly las

L¥EBE

L¥'GEE

Ly A8E

T e L

T LR PR A e R

L1 sud A

LEELE

LE'GLE

LELLE

LEBLE

[EREE

M LEERE

LGB

LE'4BE

LE'BRE

LE'LEE

LEE6E

OLgLe

0roge

Oréae

OLFEE

0rase

A 0OLBBE

O1'osE

OL'ZeE

OL'FEE

O1'36E

OL86E



qYNIN F700S

/%002 00°50-00

0Erl 5051 S€31

oerl G851 5831

0EGk 5031 S€L

085k 5531 S8l

£11801MAADIN

Jd o

¥a0 80 L AP

¥EL 85 ORI -2A

AL DL S LA

000 - P

(PLO0Z01 BFEDO0 12 %

008510 #EL0000 © L
FEM[E fy, WS

0eal S04 Ss€8l

ANTHAVOINOIADTNAANS

Aa

o
@

sua llfhals

2 N3

v

=
AINN N

O——— 70890 YEGAL FSERL

7 iLaL = wnusep

(65l 96E = 25

00000 = %077

MQE 00Z= ARIS K

7 08aL = %05 A

MQF G = RIS

gzOgl=  ewn

05eZ/El = =ed

Elasugy=  auey

TEAAL|  WIEAL = Why

FLEL|  WI0RL = wnume

(6ol 96c| [E9lgee= 235w

O0S000|  OOS000= 039X

MQE 007 | MO O0Z= ARG R

¥EGL|  WGBEL = 20519 A

MOY GO G = aBag A

SzO5L|  gzogl= Aw)

05GZ/L/BL| 0SGZ/LEBL=  Aeg

Z1asuY Y| LYl y= ey
L poigeRQ

0edl 508F SE6l

0edl 5581 5861

0EBl S06L SE0E

0egl G661 5802

OE6L 5002 SELE

R s SEEEE

Ll sd Y



M3190 2.3 AI189

qYNIN F700S

1180 IMAADN

@
@

d @
INAQANT

Tlihaeaneme

[

o

MAFD F0 ko AP
MAZIE 506 BBE S A
MAE0E L0E ABE LA

co-v0o0 - EP
[Z0:20:200 801100 © 2%
008510 #EL0000 © L
FEME fy JOEINT)

A 098 MAND = whu
A6 AT = wnuwep
(269] 965 (269 96E = 25
00°50:00 ODS000= %077
A0/E 002 | A/ 002 = 3R R
A GLR MATOG = Z0STF A
MO/ |0 2 = ARIE A
921051 gzogl=  ew
0SGZ/L/8L|  0SGZALEL=  Eeq
EOLInd M) CTOInd = swey
M LRE M LE = whuLy
M2 M GEY = wnuwep
(269] 965 (69l 96E = B35
00°50:00 OS000= %077
A0/E 002 | A/ 002 = 3Rag R
il A0 = Z0STF A
MO/ |Adimd 7 = ARIE A
5921051 gzogl=  ew
0SGZ/L/8L|  DSGZALEL=  Eeq
Zramnd s LFInd = swey
HouigRiE

S S A S A (R o

A% 002

T e B T EEEEE

IR LN

00°50-00

¥l 20

FEB

=t

¥i8

FE8

526

566

546

566

5oL 103

0oe

0ée

0FE

0ae

MADOER

ey

0FF

0'3r

0ar

FiRE

FEEE

FHOE

FEDE

Fo0s

A FL0E

Fe0C

FHE

FELE

FGIE

FLLE



